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BACHELOR OF EDUCATION (B.Ed.) 

Tenn-End Examination 

BES-142 : PEDAGOGY OF SOCIAL SCIENCE 

Time : 3 Hours] 	[Maximum Weightage : 70% 

Note: All questions are compulsory. All questions carry 

equal weightage. 

1. Answer the following question in about 600 words: 

Describe the contexts and concerns of Social 

Sciences. 

Or 

Develop an instructional strategy for teaching the 

topic 'Resources'. 

2. Answer the following question in about 600 words: 

Describe the dialectical and dramitisation 

approaches used to teach history at secondary 

level. 

Or 

Suppose you want to teach the topic 'Forest and 

Wildlife Resources' at Xth standard through field 

trip. How would jou arrange a field trip and what 
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aspects will you keep in mind while conducting a 

trip? 

	

3. 	Answer any four  of the following questions in about 

150 words each: 

(a) What audio-video resources would you use 

while teaching a topic on 'The Age of 

Industrialization'? 

(b) Briefly describe the values enshrined in 'Indian 

Constitution'. 

(c) How would you introduce the topic on 

'Nationalism in India'? 

(d) How would you teach a topic on 'Democratic 

form of government' through brainstorming 

activity? 

(e) What are the various dimensions of 

sustainable development as suggested by 

UNEP? 

(f) What learning acivities would you plan for 

teaching the topic. Soil as a Resource'? 

	

4. 	Answer the following question in about 600 words: 

Prepare a constructivistic lesson plan on the topic 

'French Revolution'. 
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